Math 214 Spring 2006 SHOW ALL YOUR WORK BONUS Quiz 6
Math 214, Fall 2003 Final Exam, Question 8.
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Fill in the blanks. %

a. The rank of the matrix A is

b. null(A) is a subspace of K
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c. The dimension of col(A) is

d. How many vectors are there in a basis of row(A)?

e. row(A) is a subspace of R
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f. null(A) is "spanned by the vectors c |, il
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g. The span of the columns of R is all of R? TRUE or (circle one).
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h. AZ = b will be solvable for any b = 22 . TRUE ¢$r FALSE (circle one).) N
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i. An example of a basis for col(A) is ) -2 { 4
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